Sheldon and Amy’s Baby Name Dilemma (names.py)
Background
Sheldon and Amy have been dating for a long time and have finally decided to have kids so that they can pass their genetic superiority on in the world. The only problem is, both of them are very particular and together they have lots of standards that a name must meet for them to choose it as the name for their child.

The Problem
Given a list of names, determine which of those names are viable options for Sheldon and Amy’s children. Sheldon’s first requirement is that the name is no longer than 7 letters. Amy’s first requirement is that the name is no shorter than 4 letters. Sheldon’s second requirement is that the name must include at least 2 vowels. Finally, Amy’s second requirement is that the name cannot end in a consonant.

The Input
The first line of input will be an integer n defining the number of names to be checked. The next n lines will contain possible names to be checked

Sample Input

5

John

Michael
Sara

Sue

Mike

The Output
The output will consist of one statement on a line by itself for each name inputted. It will describe if the name does or does not meet the criteria listed above. If the name does not meet more than one of the criteria, only print the statement corresponding with the first of the criteria to not be met.
Sheldon won't like this name! It's too long!

Amy won't like this name! It's too short!

Sheldon won't like this name! There aren't enough vowels!

Amy won't like this name! It ends with a [consonant]!

That name meets all the standards!

Sample Output
Amy won't like this name! It ends with a n!

Sheldon won't like this name! It's too long!

That name meets all the standards!

Amy won't like this name! It's too short!

That name meets all the standards!

